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1. one of the goals of psycholinguistic is to

A. understand how the language is structured in society
B. | understand how people acquire language

C. lunderstand how sociolinguistic change

D. Understand how hearing work
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2. one example of the creatively of the human language is that:
A. There are many language speakers

B. People can produce and understand new sentence
C. People can repeat anything they can hear
D. There are several components of language
Oyl A3l & £1ay) o ALiaY) aa) o
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3-Wecanuse...... our thoughts. Fill in the gap by choosing the
correct answer:

A. lanquage to verbalize
B. Syntax to verbalize

C. Grammar
D. Mental lexicon
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1. The type of language knowledge that is in a person's mind is called

A. linguistic variation
B. linguistic performance
C. linguistic mapping
D. linquistic competence
e QAR Gad B ey ¢ Ay gall) 4B ) £1 63 aaf o
sl il ]
sl eV G
gl ez
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2. Language is species specific .That means :

A. language is likely to be part of the genetic makeup of members of
the species

B. language not part of the genetic makeup of members of the species
C. language is not specific

D. language is universal
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3. Can animals be taught ( learn) human language ? choose the
correct sentence

A. yes they can learn human language

B. they can learn some languages

C. they learn some languages with difficulty

D. no, they can't learn human language
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4. Language is universal in humans. That means :
A. All humans are born knowing language
B. All humans are born not knowing language
C. All humans are born with brains that are prepared to organize
linquistic information
D. All humans are born with a ability to change the brain of information
i 13 ¢ dal) die dalle dall) o
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5. According to critical period for language acquisition :
A. It's the best period for language acquisition
B. no person can learn a language after the critical period if he not
learned a language before it
C. only a second language can be learned after the critical period if
he hadn't learned language before it
D. only one language can be learned after the critical period
s Aall) LS da all dls yall iy o
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6. The form of language that is accepted in academic and business circles to:
A. Prescriptive lexicon

B. Prescriptive
C. prescriptive grammar
D. descriptive grammar
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7. "The set of rules that govern the creation of sentence in
language The definition of:

A. Lexicon

B. Universal grammar

C. Grammar

D. Mental lexicon
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8. If someone tells a native speaker that he shouldn't say "me and
Mary went to cinema ", but should say "Mary and | went to the
cinema ". This will be an example of:
A. English grammar
B. Italian grammar
C. prescriptive grammar
D. Descriptive grammar
OSD Mlalaaall Lad (5 ke g Ui™ Jgiy o quag ¥ 4dly Ll Gaatia i Le Lol 13 o
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9.Linguistic performance is:
A. Linguistic variation
B. Language learning
C. Babbling
D. The actual use of language by speaking or listening
Y ggjaﬂ\ gAYy e
sl bl
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10. According to the critical period hypothesis ............. (Choose the
correct option to fill in the gap).

A. human can learn their first language after the age of 15
B. The optimal period for language acquisition is before the early ten years
C. Human can learn syntax after the early teen years
D. The worst period for language acquisition is before the early ten years
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1. Neurolinguistics is :

A. the study of the representation of language in the brain
B. the study of the processing of language in the brain

C. the study of psycholinguistics

D. the study of grammatical knowledge
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2. Aphasia is :
A. a language impairment that is caused by the language.
B. a language impairment that has no clear reaction.
C. a language impairment that is linked to a brain lesion.
D. a language impairment that is not linked to a brain lesion.
(2 a2l e B jaal) )88 o
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3. Broca’s aphasiaiis :

A. a fluent aphasia,

B. non-fluent aphasia,

C. not caused by a brain lesion

D. a result of the lack of communication
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4. Patients with Wernicke’s aphasia speak :
A. fluently but their speech is meaningless
B. non-fluently but their speech is meaningless
C. they didn't speak at all
D. fluently and their speech is meaningful
Gigiaaty di b dway (g giluaall ol jall o
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5. To say that language is lateralized means that the :
A. language function is not in any of the two hemispheres
B. language function is not in the right hemispheres
C. language function is not in the left hemispheres
D. language function is located in one of the two hemispheres
2 ila g Wl dadl) ol JgBl)
e leal) 3,8l diai (e gl A gl A2l dada g
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6. Control of the body is contra. lateral which :
A. the right side of the body controls the left side of the brain
B. the right side of the brain controls the right side of the body
C. the left side of the brain controls the left side of the body
D. the left side of the brain controls the right side of the body
ol (s (a3 g8 peaall (B pSaT)
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7., is the study of the representation of language in the brain:

A. Neurolinguistics
B. Psycholinguistic
C. Aphasia

D. Localization
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8. The speech of patients with Broca’s aphasia is characterized:
A. fluent

B. Non-fluent
C.Wcrneck's aphasia
D. Meaningless
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9. "Language function is located is one of the two hemisphere of
the brain " . This is the meaning of:

A. Psychoanalysis

B. Location

C. Hemispheres

D. Lateralization
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10. choose the correct statement:

A. The left hemisphere controls the left side of the body

B. The left hemisphere is controlled by the right side of the body
C. The left hemisphere controls the right side of the body

D. The left hemisphere controls the right hemisphere
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1. Choose the correct option from the following statements :
A. we should teach children language to help them learn faster
B. we should only correct children's mistakes
C. we shouldn't teach children language because they will acquire it
D. we should only correct ungrammatical language
AUl Jaad) cpa dasauall 5 lal) 53 o
& ol (S8 alaill e agine Lusal JbaSU Zall) ale Lile any
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2. In dichotic listening tasks, there is a
A. left-ear advantage for language
B. right-ear advantage for language
C. no language advantage
D. both left and right ear advantage for language
D dlia ¢ Bas gl oY) plaiad 4t B o
Gl ol 3V 8 300
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3. Language acquisition is not be possible without two crucial
ingredients one of them is:

A. a biologically based predisposition to acquire language

B. a biologically language

C. being taught language at an early age

D. None of the above
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4. The Language Acquisition Device contains :
A. universal grammar and acquisition strategies
B. universal grammar and lexicon

C. grammar and lexicon

D. universal grammar and input
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5. What do we call the input the child receives?
A. negative evidence

B. universal grammar

C. positive evidence

D. positive output
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6. Who are the providers of positive evidence to a child acquiring
language ?
A. teachers at school
B. people who don't interact with the child
C. people who linguistically interact with the child
D. teachers of native language
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7. What is the negative evidence in the child's input ?
A. insulating language

B. encouraging language

C. correct language

D. ungrammatical language
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8. Choose the correct statement from the following :

A. Children's caregivers must encourage them to imitate the
language around them to guarantee language acquisition

B. Children's caregivers should correct their mistakes to guarantee
language acquisition

C. Children's careqivers should provide opportunities for interaction
D. Children's caregivers should reward them imitation
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9. Universal Grammar and acquisition strategies are components of
A. Psycholinguistics
B. Chomsky
C. Language acquisition device
D. Grammar and lexicon
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10. when is the incorrect input the child receives, Choose the right
option.

A. Negative evidence

B. Universal grammar

C. Positive evidence

D. Positive output
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11. A possible provider of positive evidence for children is :
A. The mother

B. High school teacher

C. The brain
D. The heart
& Jihll ) Julal) Bga o
2L
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12. choose the correct statement from the following:

A. Children's caregivers must change the way they speak to children
B. Children's caregivers should reward children for imitation

C. Children's careqivers should interact with the child using language
D. Children's caregivers should correct the children's mistakes
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13. To ensure that children acquire language.............. Choose
incorrect opinion from the following statements:
A. We must use language interactively with them
B. We don't have to reward them imitation
C. We must alter the way we speak to make is easier
D. We should use language with them
damall e LY S8 e A5l JELY) GludS) (pe aslill &
agra el JS& Aall) aladial il Cany
Bl e w88l o e Gl o
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14. Our brains provide us with:

A. Positive evidence

B.The biological predisposition to acquire language
C. Negative evidence

D.the output .
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15, ......... is the linguistic input the child receives from people
around him. Choose the correct option

A. Negative evidence

B. Output

C. Positive evidence

D. Preverbal message
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16. Example of possible providers of positive evidence for children are:
A. University professors
B. People with no linguistic contact with the child
C. Parents, siblings .and care-takers
D. School employees
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1. Which of the following utterances ( words ) is a possible example

of babbling?
A. Ministry
B. Street
C. /b bb/
D. / baba/
UL Lo (e (cilals) 0 ) jladl e i o
355
g okl o
/b bb/.z
/[ baba/.-
2. children's start ........ 6-12 months after birth. Choose the correct option
A. Cooing
B. Babbling
C. Simple syntactic structures
D. Complex syntactic structures
daaall LlaY) ) Bl sy el VYA G JUkY 2 lag o
Jaagll |
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3. The utterance ( word) /mama/ is a possible example of:

A. Babbling
B. Mental lexicon
C. Cooing
D. Crying
& Jaisa Jia mama 4als
Ll
(loal) paadll
Jiglz
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4. Which of the following stages is called a holophrastic period:
A. Cooing

B. The one word stage
C. Preschool years
D. Phonological

Ban g AalSy puaatl) Alda ya e 40N Ja jall e g o
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5. A baby knows the word " flower " in connection with roses , but
when we ask the child to name " tulips" or any other types of
flowers he says he doesn't know. This is an example of:

A. Over learning

B. Over generalization

C. Over extension

D. Under extension
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6. What happens when the child's vocabulary reaches 50 words ?
A. He starts learning vocabulary items very quickly (vocabulary spurt)
B. He stop leaning more vocabulary items for a while
C. He starts producing his first word
D. He doesn't know their meaning
dals o0 ) Jidal) cila jia Jual Ladie dadag 13la o
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7. we use ........ to measure the length of learner's utterances
A. Language

B. Mean length of utterance (MLU)
C. Verbs
D. Nouns
plaiall a8 Job (bl L. addicd o
)|
MLU 22801 J sda Jass gia. 0
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8. Which of the following is a possible sentence produced by a 23
months old child :

A. | am planning to pursue a phD

B. Mommy talk phone

C. /ba da/

D. My mother is talking on the phone

I YT 0 pae Jika Adaud g Lgalid) (e LY Jaad) (e (gl
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Mommy talk phone.«

/bada/ .z
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9. Babbling starts :

A. in the first half of the first year

B. in the second half of the first year

C. in the first half of the second year

D. in the second half of the second year
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10. The sound / badabada / are possible examples of :
A. cooing

B. gargling
C. babbling
D. crying
5 Jlia (1302 L) il sl o
Jaell
8,8 all o
Ll
P

11. The one-word stage is also called :

A. a holo stage

B. holophrastic period

C. a critical period for language acquisition
D. under extension
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12. A baby knows the word 'dog' for the animal ;however , horse, he
calls it 'dog'. This is an example of :
A. overlearning
B. under learning
C. over extension
D. under extension
S5 Jla 13 IS claal) e gl @l ey ooyl S Meals™ AalS Jikal) Gy o
G
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13. What happens when child's vocabulary reaches 50 words :
A. he starts putting words together

B. he starts to create complex sentences

C. overextension starts

D. under extension starts
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14. What do we use the * mean length of utterance  for ?
A. to measure the length of small words
B. to measure the length of learners' utterance
C. to count the number of words produced by parents
D. to count the number of words produced by children
"adSl) gl Jan gila™ addiicd ila A o
3 piall Gl J ol (il |
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15. Who is more likely to produce the following sentence ' Mom talk
phone ' :

A. a 12-month-old child

B. a 23-month-old child

C. a 5-year-old child

D. an adult
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16. Choose the correct statement from the following :
A. once a child starts using a morpheme , they continue using it
B. children will use morphemes variably first then they used later on
C. children will start using morphemes at the age of 7 years
D. children will not use morphemes correctly even at the age of 7 .
Al Jaad) (e Aagauall B jlad) 580 4
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17. Children will start using derivational morphemes
A. after 24 months of birth

B. after 30 months of birth

C. 4 years after birth

D. after 7, 8, and 9 years of birth
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18. One of the characteristics of the one-word stage is .. ( Choose
the correct option)
A. A child may use incorrect sentence
B. A child may use a word instead of sentence
C. A child may produce correct sentences
D. A child may produce sentences instead of words
saa) olf dal<l) dda o (ailad gaa) o
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19. How do we use the mean length of utterance?

A. The total number of words divided by 50

B. Add the number of free and bound morphemes and divide by the
number of utterance in a language sample

C. The number of free morphemes multiplied by the number of utterance
D. Add the number of words and then divide by the number of utterance
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20. Who is more likely to understand pragmatic references in
discourse :

A. A one year old a boy

B. A 17 years old boy

C. Afive year old girl

D. A 23 month old child
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1. In speech production, the idea of a person's minds to
communicate is called

A. preverbal communication
B. preverbal message
C. syntactic representation
D. phonological representation
) gl (adldll C;Asgé Y gﬂ\ 5 SAll amdd ‘?NSS\ ) gé o<
Gl Jaal gl
Jaalll Jadle Al y.
@il Jiadll -
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2. In speech production, which of the following is operation
performed first :

A. syntactic representation

B. phonological representation
C. lexical selection

D. morphological representation
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3. When a bilingual is speaking in a unilingual mode is :
A. access to both grammars must be possible

B. access to one grammar is possible

C. no access to either grammar

D. only one access to lexicon is possible
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4. knowledge of two languages has at least two important
consequences for language production. One of them is :

A. unintentional slips into a language not active in the conversation
B. unintentional use of the words not active in the conversation

C. unintentional use of grammar active in the conversation

D. intentional use of morphemes
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5. People can retrieve words , in lexical access , using two different
kinds of information:

A. syntax or morphology

B. meaning or form

C. sound or meaning

D. sound or form

O (plidia e o8 alaAuly ¢ anaall Jguagll A ¢ clal) 3 sia) GalBE (Say o
Gila glaall

o pall o sail)

JSal o )

Gl sl 2

JE 5 & el o

6. In speech production, the phonological representation stage
follows ( comes after) :

A. Semantic representation

B. Phonological representation

C. The syntactic representation stage

D. Lexical access

(s () (i pual) S Ay 25 ¢ QIS L) (S
YAl Jaa)

ssall diadl o

¢ il JAdl s ye

el Jgpasll o
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7. When a bilingual speaker is speaking in a bilingual mode:
A. Access to both grammars and lexicons must be possible
B. Access to one grammar is possible
C. Access to neither grammars is possible
D. Access to the lexicon only is possible
Aall) AU pg A ARl il Gisaliy Ladie o
UiSen aaleall g 2ol gil) o JS Y Jadll (35S o cony |
3as) g 32c @ ) J s sl (S0
Lsaill se) g8l e gl ) Jashl (S Yoz
L paxal) ) g5l (S0,

8. Knowledge of two languages has two consequences for
Language education.One of them is :

A. Intentional switching from a language to another

B. Speaking one language only

C. Unintentional use of grammar active in the conversation
D. Unintentional use of phonology

S8 agia dalg Aall addet o Clad Legd (el 48 e o
6 OA (A e deatid) Joaddl)

Jasd 3aa) g daly ol o

Aalaall A ddalil) ae gall 5 guata juall aladiul) -

il gV alal 3 gumiall aall alasiuN) o

9. Lexical access ( lexical retrieval) , we use two kinds of
Information are they?

A. Phonological and allomorphs
B. Lexical decision tasks
C. Allophones
D. Meaning and sound
Claglral) (o (e o aadliad ¢ (aaaall gla i) (adaal) Jpagll o
o sa sy (geall]
Aanadl Al alee
Ghill Sl =~
G gaall g Jmall 2

At el 9 il




10. In speech production, which of the following operations takes
place after the phonological representation:
A. Syntactic representation
B. Lexical access
C. Articulation
D. Morphological representation
gal) Sl say daany A cililaad) (e () ¢ 2SN ZL) B o
s sl Jail) |
ol Jpa gl o
Ghill -
Brall il 3

11. Lexical retrieval in Lexical access means:

A. Processing the word after remembering it

B. Forgetting word

C. Making a word ready for processing ( recalling it)
D. Producing a word's phonemes

2o paarall Jguagll A anaall slesin)
la SN 2y Al Aallaa -

A s -

(Lefle sind) Aallaall 3 als 2SN Jaa -
3K L g )

HS et a5 )




dagludl §_pualaall

1. one wants to say " ... to break up monotony ....... " but says " to break
up the mahogany " instead. That lexical items are organized by either:
A. Sounds
B. Meaning
C. Syllables

D. Morphemes

to break up 4is ¥ J@8 to break up monotony Jdsis &) dix gadd <
dhau) g3 dpanrall gualiad) oda ailiii &, the mahogany

Al & gually Allaial) dadLid) pUadY) cpa 0da (o)) nall ) il
(aaral) £l iud) s sUbdl cpilallll B 5 gual) z jaal) Adadlll adalial) -
Clad ) sall 5

2. one wants to say " paddle tennis " but says " talddle tennish "
thatisa ....

A. Error at the lexical access stage

B. Error at the syntactic representation stage

C. Error at the phonological representation stage
D. Error at the morphological stage

talddletennish e Y& J& paddle tennis Jdsis of wm padd o

earall Jpa gl ds o 8 Uad ]
Gy LS & gually Ly dlatial) pUaiY) (e 031 ) sl Jiadll dls ye L Uad

((Asald) dlds yall (A gual) Jiilaill o pal) Jaiadl) s ja 8 Uad -
4 yeall dls jall 3 Uad s

HS et a5 )




3. What kind of phonological error is the following saying "l can't
cook worth a cam" instead of " | can't cook worth a damn"

A. Exchange error

B. Perseveration error

C. Anticipation error

D. Exchange error

| ¢=Yu|can't cook worth a cam Jsi ¢us Asigall sUadY) te £ g i o
can't cook worth a damn

Jasiwy) Uas
((hipall Jiail) Al pa dsaldl) Al pal) Meaidy ) Al s o
I Jlasiey) Uas o
4. If someone wants to say "if you can find a garlic ....." but he said

“ gargle ” instead of garlic . that gives evidence that lexical items
are organized by their :

A. sound

B. meaning

C. labels

D. morphemes

¢e Y gargle J& 48 if you can find a garlic ds& of aaaal 21,0 130 &
iAol g9 Asanaall pualiad) andili oSay 430 o ey 138 garlic

& gual) |

el o

Glrandll =

Clad ) sall, 5

HS et a5 )




5. If you wants to say 'hash’ or ' grass' and says 'hass' or ' grash' .
Thisisan:

A. error at the lexical access stage

B. error at the syntactic representation

C. error at the phonological representation
D. error at the syntactic representation

&a 13 grash sl hass s Yy @by grass sl hash Jsi o) @i 13 <
earall Ja gl Aa jo 8 Uad ]

ol Jaiall A Uas o

Feall Jiail) 8 Uad ~

| ol Jiadll 8 e o

6. What kind of phonological errors is the following ' saying
hassgrash instead of hash or grass '

A. segment exchange error

B. perseveration error

C. anticipation error

D. word exchange error

hash or grass ¢ Y& hassgrash Jsis o 4 gall sUad¥) (e £ 53 gl
@A sl Uad
LS Jaag Uad o

HS et a5 )




7. if someone wants to say ' please give me the hose ‘But says
‘nose’ instead of' hose'. That gives evidence that lexical items (
words) are organized by their:

A. Sound

B. Meaning

C. Syllables

D. Morphemes

oa Y& nose J& « please give me the hose Jsis of gadd 3 i 13) <
Ao gy dranaall gualiadl addli (e 4f Judo oy 14 hoSseE!

& guall |

szl o

Adaill p L)

Clagd) sall

8. if someone wants to say " speak " but says' sneak” instead. That
IS:

A. An error at the phonological representation stage

B. An error at the syntactic representation stage

C. An error at the lexical access stage

D. An error the morphological stage

.sheak e Y& J8 4! speak Jsis of padd 31 13) o
o ) Jaiadl) As ye 8 Uad |
4 yuall dls yall 3 Uad s

HS et a5 )




9. What kind of phonological error is the following saying Steak and
sake" instead of" steak and shake "

A. Perseveration error

B. Segment exchange error

C. Anticipation error

D. Word exchange error

steak ¢ Y4 Steak and sake M Jgill B 4 gall sUaiY) (e £ 63 51 o
and shake

a2 il Uas |

ol Qe Uad

&5l s g

Ll Juas Uad o

HS et a5 )
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1. In speech Perception(hearing), which of the following operations
take place first:

A. lexical access

B. syntactic representation

C. phonological representation
D. morphological representation

Vol AU U ja g ¢ (pandl) pdSl &) B
eazall J sl

il Jhadll o

Sl daddl) =

Al Jiiall 5

2. ( Choose the correct statement ) In constructive speech perception:
A. the speech perception system takes information anywhere it can find
B. the speech perception system mishears the input

C. the speech perception system focuses only on the visual input

D. the speech perception system focuses only on the verbal input

s Ul aNSl) &) ) (@ (Ragaal) 5 jkad) JEAN) o

lede ) giall A IS4 (of (e il slaall 3L 2D &) ) AUas
AR TSy SIS &l o) sl

L 4 padl oA e DS @) ) Hldas S 2

Lagd Z3kall) ol e 2SI @l ) s S 0

HS et a5 )




3. If someone watches a video of a person mouthing ( gaga) With
the audio track of a person saying ( baba) , he will perceive it as (
dada). This is called:

A. Dichotic listening

B. Lexical decision

C. McGurk effect

D. Semantic ambiguity

& [gaga] isall phial) Jali Le addl 508 aaa QaldEY) aaf L& 1Y) o
o 18 da da lal) pewy 440 W i AT paddl [baba] Ayl ahaiall

ol &LA'.E“\J\]

ezl Al

) palle yilli

Y i gl s

4. IN speech perception ( hearing) , the syntactic representation
stage comes after:

A. Lexical access

B. Syntactic representation

C. Phonological representation

D. Morphological representation

B g oadll Jfail) s ya AL ¢ (pandl) a2 &) B o
(aazall Jgasl) |

gl Jiadll o

sisall Jiadll =

b all Jiiadll 5

HS et a5 )




5. In speech perception ( hearing), which of the following operations
takes place after the lexical access a stage:
A. Phonological representation
B. Articulation stage
C. Syntactic representation
D. Morphological representation
caarall JLaRY) Ada pe a0 AN cildeal) o adISl &) A o
Sisall Jiiadl
ol As e 0
g il Jiddl ~
Brall il 3

6. Which of the following options of related to constructive speech
perception:

A. McGurk effect

B. Chomsky's effect

C. Phonological anticipation

D. Phoneme analysis

re L) AN &) aly Adeal) )l LY el JLAd) e s o
&y alle yili |

ol gslz

Lgydl\ G gall Jalad o

7. McGurk effect is :

A. Only experienced when people are tried
B. Is a result of inattentiveness

C. Truly illusory (true illusion)

D. Semantically ambiguous

A ) gaste il

AaSlaall 3 5all (553 U (e Aeladinl oy -
ALY aded Aol ity <

a5

Y st -2

HS et a5 )




da\il) 5 pialaal)

1. Choose the right sentence. In top-down information processing:

A. We use context to help us get the meaning
B. We don't use context
C. We don't use the processing knowledge
D. There's no information processing
A e i o cilaglaal) dpllae B Aaaall Llay) 5a) o
(il o Jpeanll b Uisclul Saull aadius]
Sl aadins ¥V o
28 yaall Axllaa a0dis ¥ -
e sleall Aallae @llia ud

2. IN bottom-up information processing
option)
A. We don't use the acoustic signal to get the meaning

B. We use the acoustic signal ( speech ) to get the meaning
C. No information processing

D. We use top-down information processing

....... (Choose the right

(Aagaal) daadl 581 ) Ao Y Jiud (e cila glaal) dpllea & o
el e Jseanll A5 pall 5 LaY) andiu Y

i) e J guanll (L) &5 peall 3 JLEY) pdiasi,

Gl slaall dallaa 22 55 Y =

Jinl Jef e e sheall dallae ardin

HS et a5 )




3. If you use context to guess the meaning of a sentence your
friends said you will be using ............. to understand that sentence
(e.g. you saw your mate says cats food as you were leaving to
supermarket ). Fill the blank using the right option .

A. top-down processing

B. bottom-up processing

C. no information processing

D. top-top processing

ARG G g ] ilBaa) JB (Alaad) dna (el Flad) addiod cuiS 1Y) o
s L) Jaall) alada g8 ellaa § il 5 ¢ JUall Jasen o) ddand) dlli agdl ...,
el LAY aladiody §1,80 Sl (S jla g gl ) el 2l

Jond ) el e dallan|

Slel G diud (e dalae

Cloglaall dallas 22 8 Y 7

Sl G el e dadlas.

4. If you use the acoustic signal ( i.e. what the other person
understand a sentence) , you will be using : ................ .(Complete
the right option )

A. top-down processing

B. bottom-up processing

C. no information processing

D. top-top processing

raddicdind ¢ (Aaadl e AY) (eddl) dagdy La (sl) 4l guall 3 LAY) addind cuis )
Jasl (I et (0 Al -]

el A diu) e dadlee -0

Gl glaall dallae 22 5 Y -

A [N | IR Y P PN | PR

HS et a5 )
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1.We use lexical decision tasks to ........ (Choose the right option)

A. Examine dichotic listening tasks

B. Examine listening

C. Examine lexical access in perception
D. Language production tasks

(Al LlaY) i) ) L. J dgaazall ) Al daga padied o
ARl 40 o i) alge (anid |

gl asd o

Y (8 ol Jpall pand =

Al %) alga,d

2. Which of the following are used to study lexical access in
language perception:
A. Dichaotic listening
B. Lexical ambiguity tasks
C. Lexical decision tasks
D. Lexical production
HAadl) i pa) B anaadl Jgea gl A A aadind L laa gl o
Sl eyl
el [ genll alge o
eaxall ) A alee
ezl LY

3.which of the following will be retrieved (remembered) slower in
lexical decision tasks:
A. Infrequent words
B. Frequent words
C. Clear words
D. Frequency lists
aaxall ) AN daga B Uail J&y (08X oledind Say b Laa g) o
3 S0 yual) ol
5 Sl XSl o
EENC PRGN
DSl 2l g8 s

HS et a5 )




4. In lexical decision tasks, there is A..
A. Segment exchange error
B. McGurk effect
C. Priming effect

D. Right-ear advantage

2 53 (paarall )3l daga (B
ol Qg Uas
A 5aSle Ll -

Ll s
) 5V B Haa -2

HS et a5 )
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1. In which task do we show participants a prime , a mask, And a
target word:
A. Dichotic listening tasks
B. Masked priming tasks
C. McGurk effect
D. Phoneme restoration
ciagllg ¢ gLl ¢ AN AasY) S Ldall (a2 Aaga i (B o
AU ¢ i) plea |
xisall 4 0 aleall.
) saSle il x
O guall Balatin) 2

HS et a5 )
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1. Which of the following factors effect language acquisition:

A. Hair colour

B. The number of languages learned by brothers
C. The location of the school

D. Personality

Aall las) e i A Jalgad) cpa i o
BTN

5AY) JB e L@_Au AL GRIE S1{FRCT
Ayl 2 gz

duad dll 2

2. Choose the correct statement: (Second language acquisition
representation stage becomes Easier if ) :
A. The two languages are similar
B. The first language is English
C. The two languages are different
D. The two languages come from different roots
(13 Sl Ailil) dall) QLS sy ) 1dagauall AgaY) AR
Oligline all) cils |
A alasy) Al e Y1 Al calS o
olalisae olall) cwl< .z
Aaliae Hoda e olaadll il o
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1. Which of the following is a possible cause of aphasia:

A. A stroke in the brain
B. Speaking two languages

C. Speaking one language only
D. Cold and flu

adsll o 5kl ¢))a88 Jaliae e g8 (o Laa g o
ae Laal) 5 -

Gy Sasil) -o

\).I}hf)_” 9 .J).\M =2

o A Juady a3
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